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0 796.5 173.5 93.3 54.4
1 817.9 178.2 95.8 55.8
2 842.0 183.4 98.6 57.5
3 868.2 189.0 101.6 59.2
4 896.1 195.1 104.9 61.2
5 925.3 201.5 108.3 63.2
6 955.8 208.1 111.9 65.2
7 987.5 215.0 115.6 67.4
8 1020.3 222.2 119.5 69.7
9 1054.3 229.6 123.4 72.0
10 1089.3 237.2 127.6 74.4
11 1125.4 245.1 131.8 76.9
12 1162.6 253.2 136.2 79.4
13 1200.9 261.5 140.7 82.1
14 1240.4 270.1 145.3 84.8
15 1281.0 279.0 150.1 87.6
16 1322.9 288.1 155.0 90.4
17 1366.1 297.6 160.1 934
18 1410.7 307.3 165.3 96.5
19 1456.7 317.3 170.7 99.6
20 1504.2 327.7 176.3 102.9
21 1553.2 338.3 182.0 106.3
22 1603.9 349.4 188.0 109.8
23 1656.2 360.8 194.1 113.4
24 1710.2 372.6 200.5 117.1
25 1765.9 384.7 207.0 121.0
26 1823.5 397.3 213.8 125.0
27 1882.9 410.3 220.8 129.1
28 1944.2 423.6 228.1 133.4
29 2007.5 437.5 235.5 137.8
30 2072.7 451.7 243.2 142.4
31 2139.9 466.4 251.2 147.1
32 2209.3 481.6 259.4 152.0
33 2280.7 497.2 267.8 157.0
34 2354.2 513.3 276.5 162.3
35 2429.9 529.8 285.5 167.7
36 2507.8 546.9 294.8 173.2
37 2588.0 564.5 304.4 179.0
38 2670.5 582.5 314.2 185.0
39 2755.2 601.2 324.4 191.1
40 2842.3 620.3 334.8 197.5
41 2931.8 640.0 345.6 204.1
42 3023.5 660.2 356.7 210.9
43 3117.6 681.0 368.1 217.9
44 3214.0 702.3 379.9 225.2
45 3312.7 724.1 391.9 232.7
46 3413.6 746.5 404.3 240.4
47 3516.7 769.4 417.0 248.4
48 3622.0 792.8 430.0 256.7
49 3729.6 816.8 443.3 265.2
50 3839.4 841.3 457.0 274.1
51 3951.6 866.4 471.0
52 4066.1 892.0 485.3
53 4183.1 918.2 500.0
54 4302.6 945.0 515.2
55 4424.9 972.5 530.8
56 4550.0 1000.7 547.0
57 4678.1 1029.7 563.8
58 4809.2 1059.6 581.3
59 4943.3 1090.3 599.5
60 5080.1 1122.0 618.5
61 5219.4 1154.5
62 5360.9 1187.9
63 5504.3 1222.2
64 5649.2 1257.3
65 5795.4 1293.3
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0 650.4 141.7 76.2 44.4
1 668.5 145.6 78.3 45.6
2 688.5 149.9 80.6 47.0
3 710.0 154.6 83.1 48.4
4 733.0 159.6 85.8 50.0
5 757.1 164.8 88.6 51.6
6 782.3 170.3 91.5 53.3
7 808.5 176.0 94.6 55.1
8 835.8 182.0 97.8 57.0
9 864.0 188.1 101.1 58.9
10 893.2 194.5 104.5 60.9
11 923.4 201.0 108.1 63.0
12 954.5 207.8 111.7 65.1
13 986.6 214.8 115.5 67.3
14 1019.7 222.0 119.4 69.6
15 1053.8 229.5 123.4 71.9
16 1089.1 237.1 127.5 74.3
17 1125.4 245.0 131.8 76.8
18 1163.0 253.2 136.2 79.4
19 1201.8 261.7 140.7 82.0
20 1242.0 270.4 145.4 84.8
21 1283.5 279.5 150.3 87.6
22 1326.4 288.8 155.3 90.5
23 1370.8 298.5 160.5 93.6
24 1416.8 308.5 165.9 96.7
25 1464.3 318.8 1715 100.0
26 1513.4 329.6 177.2 103.4
27 1564.3 340.6 183.2 106.8
28 1616.9 352.1 189.3 110.5
29 1671.2 363.9 195.7 114.2
30 1727.5 376.2 202.3 118.1
31 1785.6 388.9 209.2 122.1
32 1845.6 401.9 216.2 126.2
33 1907.7 415.5 223.5 130.5
34 1971.7 429.4 231.0 135.0
35 2037.9 443.9 238.8 139.6
36 2106.2 458.8 246.9 144.3
37 2176.6 474.2 255.2 149.2
38 2249.3 490.0 263.8 154.3
39 2324.3 506.4 272.6 159.6
40 2401.6 523.3 281.8 165.0
41 2481.2 540.7 291.2 170.6
42 2563.2 558.7 300.9 176.4
43 2647.6 577.2 311.0 182.4
44 2734.5 596.2 321.3 188.6
45 2823.9 615.8 332.0 195.0
46 2915.7 635.9 342.9 201.7
47 3010.2 656.7 354.2 208.5
48 3107.2 678.0 365.9 215.6
49 3206.9 699.9 377.8 222.9
50 3309.4 722.5 390.1 230.5
51 3414.6 745.6 402.8
52 3522.8 769.5 415.9
53 3633.8 794.0 429.3
54 3747.9 819.1 443.2
55 3865.1 845.1 457.5
56 3985.5 871.7 472.4
57 4109.3 899.2 487.7
58 4236.4 927.5 503.6
59 4366.8 956.6 520.1
60 4500.5 986.6 537.3
61 4637.3 1017.5
62 4777.0 1049.3
63 4919.4 1081.9
64 5064.3 1115.3
65 5211.5 1149.6
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